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https://drive.google.com/open?id=0B-0b6L _QjGL pSV820WY 1cnV1Z3c NEW QUESTION 947 Which two statements about
normal-range VLANSs are true? (Choose two.) A.&#160;&#160;&#160; Y ou can delete VLANSs 1002 through 1005 in transparent
mode only. B.&#160;&#160;&#160; The vlan.dat file is stored in RAM and copied to the NVRAM when you save the
configuration. C.&#160;&#160;&#160; Configurations are saved in the vlan.dat file. D.&#160;&#160;&#160; Y ou can add,
modify, and remove configurationsin VTP server mode and VTP client mode. E.&#160;&#160;&#160; Y ou can add VLANsin
VTP server mode. Answer: CE NEW QUESTION 948 Which three statements about extended VLANSs are true? (Choose three.)
A.&#160;& #160;& #160; The lowest extended VLAN number is 1006. B.&#160;& #160;&#160; The lowest extended VLAN
number is1002. C.&#160;&#160;&#160; Any VLAN ID can be used as an extended VLAN. D.&#160;&#160;&#160; They are
recognized only by VTP version 3. E.&#160;&#160;&#160; They are propagated by VTP by default. F.&#160;&#160;& #160;
They require the extended system ID to be enabled on the device. Answer: ADF NEW QUESTION 949 Which command must be
configured on the physical ports of aLayer 3 EtherChannel? A.&#160;& #160;&#160; ip address <subnet mask>
B.&#160;& #160;& #160; switchport trunk encapsulation dotlq C.&#160;&#160;&#160; no switchport D.&#160;& #160;& #160;
switchport mode access Answer: C NEW QUESTION 950 Which feature can you enable on your network to most effectively
limit unknown traffic? A.&#160;&#160;&#160; DHCP packet rate limiting B.&#160;&#160;& #160; unicast storm control
C.&#160;& #160;& #160; multicast storm control  D.&#160;&#160;&#160; broadcast storm control  E.&#160;& #160;& #160;
ARP packet rate limiting Answer: B NEW QUESTION 951 Which two statements about native VLANSs are true? (Choose two.)
A.&#160;&#160;&#160; All outgoing traffic without a VLAN tag is tagged with the native VLAN. B.&#160;&#160;&#160; All
untagged traffic that arrives on the deviceis placed into the native VLAN. C.&#160;&#160;&#160; The VLAN tag is stripped
from all incoming traffic that matchesthe native VLAN. D.&#160;&#160;&#160; They are propagated through VTP.
E.&#160;&#160;& #160; The default native VLAN isVLAN 11. F.&#160;&#160;&#160; All incoming traffic that matches the
native VLAN is dropped at the switch. Answer: BD NEW QUESTION 952 Which two TLVs are mandatory in LLDP
advertisements? (Choose two.) A.&#160;&#160;&#160; Platform TLV B.&#160;& #160;&#160; System Capability TLV
C.&#160;& #160;& #160; Network Policy TLV ~ D.&#160;&#160;&#160; System Name TLV ~ E.&#160;& #160;&#160; Native
VLAN TLV Answer: BD NEW QUESTION 953 Which statement about the connection of two switches with several links using
LACP link aggregation on 10Sistrue? A.&#160;&#160;&#160; By default, when an LACP channel is configured, the LACP
channel modeisoff. B.&#160;&#160;&#160; By default, when an LACP channel is configured, the LACP channel modeis on.
C.&#160;& #160;&#160; By default, when an LACP channel is configured, the LACP channel mode is active.
D.&#160;&#160;&#160; By default, when an LACP channel is configured, the LACP channel modeis passive. Answer: B NEW
QUESTION 954 Which two statements about configuring avoice VLAN on a switch port are true? (Choose two.)
A.&#160;&#160;&#160; The port must be operating in untrusted mode. B.&#160;&#160;& #160; Tagged traffic is not supported.
C.&#160;&#160;&#160; It must be configured separately from the VLAN that carries data traffic. D.&#160;&#160;&#160; If the
port is trusted, data traffic that passes through the Cisco |P Phone maintainsits QoS values. E.&#160;& #160;&#160; The port
must be operating in trusted mode.  F.&#160;& #160;&#160; Cisco Discovery Protocol must be disabled on the switch port.
Answer: CD NEW QUESTION 955 Which statement about SPAN functionality for an EtherChannel group istrue?
A.&#160;&#160;&#160; It can be configured as a SPAN source or a SPAN destination port. B.&#160;& #160;&#160; It can be
configured as a SPAN source but not as a SPAN destination port.  C.&#160;& #160;&#160; It can be configured as a SPAN
destination but not as a SPAN source port. D.&#160;&#160;&#160; It cannot be configured as a SPAN source or a SPAN
destination port. Answer;: B NEW QUESTION 956 How does the Spanning Tree Protocol determine path cost?

A.&#160;& #160;& #160; interface hop count  B.&#160;& #160;& #160; interface reliability C.&#160;&#160;&#160; interface
bandwidth D.&#160;&#160;&#160; interfaceload E.&#160;&#160;& #160; interface delay Answer: C NEW QUESTION 957
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It supports authentication. True

HSRPv1 and HSRPv2 use the same packet format.

It can share a virtual MAC or IP address among a group
of routers.

Itis a Cisco-proprietary implementation of FHRP.

It is supported on Layer 3 interfaces, including tunneled
interfaces.

HSRPV1 and HSRPv2 use different multicast addresses for
hello packets.

The HSRPv2 group numbers ranges from 0 to 255.

Answer. B payslcadcicom
True

HSRPv1 and HSRPv2 use different multicast addresses for
HSRPv1 and HSRPv2 use the same packet format. helio packets.

It can share a virtual MAC or IP address among a group
of routers.

It is a Cisco-proprietary implementation of FHRP.

It is supported on Layer 3 interfaces, including tunneled It supports authentication.
interfaces.

The H5RPv2 group numbers ranges from 0 to 255,

NEW QUESTION 958 If EtherChannel guard is configured on a device, which result happens when the device detects a
misconfiguration on a connected device? A.&#160;&#160;&#160; Spanning treeis disabled for the VLANSs associated with the
EtherChannel. B.&#160;&#160;&#160; The port generates asyslog message. C.&#160;& #160;&#160; The EtherChannel
configuration is removed from the running configuration of the device. D.&#160;&#160;&#160; The port is error disabled.
Answer: D NEW QUESTION 959 Which two options are benefits of using VSS for chassis virtualization? (Choose two.)
A.&#160;&#160;&#160; It supports GLBP to balance VSStraffic. B.&#160;&#160;&#160; It provides multiple points of
management for redundancy and improved support. C.&#160;&#160;&#160; It uses a single database to manage configuration for
multiple switches. D.&#160;&#160;& #160; It provides a single point of management for improved efficiency.

E.&#160;& #160;&#160; It requires only one gateway per VLAN. Answer: DE NEW QUESTION 960 What happensif an
interface within channel group is configured as SPAN destination? A.&#160;& #160;& #160; Portchannel will forward traffic to
source SPAN. B.&#160;&#160;&#160; It will not be operational. C.&#160;& #160;&#160; The link will be in error-disable.
D.&#160;&#160;& #160; The interface will be removed from the channel group. Answer: D NEW QUESTION 961 Which
featureisnew in RPVST+? A.&#160;& #160;& #160; BackboneFast isimplemented. B.&#160;&#160;&#160; UplinkFast is
implemented. C.&#160;&#160;& #160; Only the root bridge sends configuration BPDUs.  D.&#160;& #160;& #160; All ports can
generate and send BPDUs. Answer: D NEW QUESTION 962 ...... Download the newest PassL eader 300-115 dumps from
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dumps: & #160; https://www.passl eader.com/300-115.html (971 Q& As) (New Questions Are 100% Available and Wrong Answers
Have Been Corrected! Free VCE simulator!) P.S. New 300-115 SWITCH dumps PDF:

Output as PDF file has been powered by [ ] plugin from www.ProfProjects.com | Page2/3 |


http://www.ciscobibles.com/?p=6912
http://www.profprojects.com/?page=upm

This page was exported from - Free Cisco Training & Resources - Certification Exam Preparation
Export date: Fri May 9 20:15:36 2025/ +0000 GMT

https://drive.google.com/open?d=0B-ob6L_QjGL pV 1dGa2Q3czNVNG8 >> New 300-101 ROUTE dumps PDF:
https://drive.google.com/open?id=0B-ob6L_QjGL pZEEQS2Y xR3ZMUWSs >> New 300-135 TSHOOT dumps PDF:
https://drive.google.com/open?id=0B-ob6L_QjGL pSV820WY 1cnV1Z3c

Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com | Page3/3 |


http://www.ciscobibles.com/?p=6912
https://drive.google.com/open?id=0B-ob6L_QjGLpV1dGa2Q3czNVNG8
https://drive.google.com/open?id=0B-ob6L_QjGLpZEE0S2YxR3ZMUWs
https://drive.google.com/open?id=0B-ob6L_QjGLpSV82OWY1cnV1Z3c
http://www.profprojects.com/?page=upm

